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<ifleflweo / SCIENCE

(SO whmid pifler euifl / Tamil & English Version)

GBib : 2%2 wenf | [ Qurss wHICUTSET : 75
Time Allowed : 2%> Hours ] [Maximum Marks : 75
Sidleyenr : (1) ivarsg ellamssEpd sflwng da ueurd) o dTensT 6remSme

sflurisgé Qarararoyd. oFalLHele GopmLAeT D@Ds
seavrareturerlid o 1 emguirs Ggflelssea.

2) B ooz &smUY owlmea wLLHCWL 6TWgUSDHEGLD
2. 5Camg Heush@h LwearHss Caiar(Hd. LLEISET euaeusn @
Cuendled LwETLIHSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOY : Qeuelermggmar epestm) Afleysaars QsTarmL_g).

Note : This question paper contains three sections.

1Slifley ~ I/ SECTION -1
(SlliCluarrser : 15) / (Marks : 15)
GOLY : () @Uuifele o erar 15 efamés@rdE@n el wefldsaLb. 15x1=15

@ eeoriys ghlulaidr QesrhssLulBHerer wrpm efensafod
Waebd eflwrer elaaws BsTHOsHES! 6rpsey.

Note : () Answer all the 15 questions.

(i)~ Choose the correct answer from the alternatives given in the brackets.

[ &Linyes / Tumn over
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Blwimar_iged waflser updlw sflurer sapm - Ao
(weflsemar @55 w5 Canmilafl Badr, GaueTramanio @gym_asasm,'@mmg

2 Gngmize wHmID BOTHS B, @gppg.eurra;mmu LSSSD)

The correct statement about Neanderthal man is :

(the first human like hominid, started agriculture, ate meat and walk
the dead)

ed erectly, buried

@eursTe) 2 e @b Grmi
(epo-umi®, GsmapGrmil, @m@(r_r,rru.na;e;q UL TSTLDEnT)

is a viral disease.
(Typhoid, Leprosy, Rabies, Ringworm)

SWPSFIL LGHUAD st @ BreTflders &yl

(i fared &9, Qi L AF &g, evgymi® &g, semeaomuid)
An endocrine gland found in the neck is

_(adrenal gland, pituitary gland, thyroid gland, pancreas)

LEED sTaurhisaie ureans QumEs Wwapule paoLCunb Wse Hsnay

(BHOUNSD, (PeaTEHe®, WBamHb 2 Haurgd, warHhss Carsms)
In sexual reproduction of flowering plants, the first event involved is
(fertilization, germination, regeneration, pollination)

> amriiBens o Grmohser sraliLBD edlemkis,
(QeueTeuTe), WITENET, LOTEH, L6ne)

Sensitive whiskers are found in
(Bat, Elephant, Deer, Cat)

-at sfle] BEs 2 mLILITELW.

(UG CLrGsmeur, S GrL LT, SLLLI LI(DESHET, QUMETSSMEL L|(p&aeT)
Nephridia are the excretory organ of |

(Protozoans, Coelenterates, Flatworms, Annelids)

QBT WITSSET 6TeoTLIHE

Bflamed ugeynd Crmise ar@EssETH

(Qemdl Aytéig, Heflur LG, UTFeel Gampur®, Sreirr)
An example of water-borne disease is .

(scabies, dracunculiasis, trachoma, cholera)



10.

11.

12.

13.

peors seruUTaTES LararL smrsd Birssamysd @D, STTLGHT -epL_-
FOMUMLSE SOTLLTESS QST Sanraa <, GLD.
(Brésenradd | Brom seared)

A solution that contains water as the solvent is called an aqueous solution. If
carbon-di-sulphide is a solvent in a given solution, then the solution is called
(aqueous solution, non-aqueous solution)

er@ifiFensuia A Ms oufleon o dreng). <pli9alld o drar oiblab

(or&Ré Sidleowd, wrells wilan, Lri s oblab, esmrals siblamb)
Citric acid is present in lemon. Apple contains

(Lactic acid, Malic acid, Tartaric acid, oxalic acid)

QzmEd 16 - 2 drer gaflriser eremliLI(pLD.

(&6 @HbLLD, &rreb(‘éasrr@gehdb GH b, CanGamer @HDLLD, ebL_Tee
GObLID) |

Group 16 elements are called .

(Carbon family, ,ghglcogen family, Halogen family, N itrogen family)

Slemsen &HUSHD 2 arer psd Gamogder IUPAC QUi
(rESen | FrHangen)

IUPAC name of the first member of alkyne is
(ethene/ethyne)

R o

o el -ér ol seng ianEss LEGADS.
(sLliumeny, Queredlwsnd, HAGQs. Lbg)

The Screw Gauge is used to measure the diameter of a
(Crowbar, Thin wire, Cricket ball)

HellWer Hleom mpmocd sHCUTmgw LN BHS. Lelluler <gms urdwrs
Gapujorearme Lelriliy phassHean b

(8pCurensw Hevevenwiad @i liur@, sHGUTMsL Hlawamweil Brend
LLRISTGLD, rorg, sHCUTamsW ﬁlmwmuaﬁ]L urdlwurss @mmu@) N

If the radius of the earth is reduced to half-Of its present value, with no change in the
mass, the acceleration due to gravity willbe :

(doubled to that of its original value, four times that of its original value, r s same
reduced to half of its original value) |

[ SlpLis / Turm over



14.

15.

4

N : DIG6or Lol
30 LOLSFET QFTLiT @anenrLitdled @mamréﬁasuul—@mm@: SI ?&%uwwggl_eh
2 G Qe o AW Gen Bgpdrar 29 e LDLSEELD 2G5 Wieor P |
Qzm_fevarmi96 QaamsslILLLTD 2ips Slepuied QeuaflFaLd
(o1flsMEGL, Gmpub, wrPTd GMHEED)

30 bulbs are connected in series. If one bulb is fused and tl:le remaining 23 1;111
joined in series and connected to the same supply, the light in the room will b€ -

(increased, decreased, remained same)

bs are

2 Garss sLHudd uryw WarCamriLib igoead aodl -8
2 (HEUTSHSLD.
(smbsLiew, erpdlrelems, gram@n WerGearm L ib)

An electric current passing through a metallic conductor produces __ around
it.

(magnetic field, mechanical force, induced current)

191fley - 11/ SECTION - II
(FLGLamseT : 40) / (Marks : 40)

GOy : eremeuCuienid Qug SamssEpss e _welssayLb.
Note : Answer any twenty questions.
16. prisailer GorsEw UL Sowdurer Lanine ehis SEMEDLOU|EDL_ULIG).

17.

18.

Herarl UL gangll Lwerl(hids (Rr) BCemmeni i QamesrL GRGEDETC
BrlgaT eped 9pés eumilierer priis@ iqgseallen Lamsmand S M|

In dogs the barking trait is dominant over the silent trait. Using Punnet Square, work
out the possible puppies born to two barking parents with genotype (Rr).

@u_r,r:bemasg ng;r'r.més'ga;rrmmasemu_l Qeuaflud_Leur wiry 2 SIS @'IG&UT(D
Cerur@smers GHIAHs.

Who proposed the theory of Natural Selection ? Mention the two principles of this
theory.

wrGam@Garmaned ML QUITmETaeT erampred eraner o <leupBlar Lwer
wng) ?
What are monoclonal antibodies ? Mention its yge.

20x2=40



19.

20.

e DFLLBGSSEIFO (A) 1 Lwmuligad Gl Ly Crmurelsaiar @rsssse
STaTULIHD FhFed srésemy LWTUHSSUILL IO
Ampir auflurs QeuelGuppLiu@Lb.

aeustd (R) . senanrld Gunglorer Gansallamens &7LILSDMmE.

(1) (A) LpmId (R) sflwrareneu. (R) eramug) (A) - eyssrear sflwirar edlerésid.

(<) (A) LODID (R) sMwiremena. (R) eramuig) (A) - eyssmen sAwmeT aNaTEELD 6.

(8) (A) &M yemmed (R) seum.

() (A) soum yamed (R) &,

Assertion (A) Expulsion of excess unused glucose in the blood through urine
is observed in a diabetic mellitus person.

Reason (R) : Insulin is not produced in sufficient quantity by pancreas.
(a) Both (A) and (R) are true and (R) explains (A).

(b) Both (A) and (R) are true but (R) doesn’t explain (A).

c) Only (A) is true but (R) is false.

d) (A) is false but (R) is true.

Qar@&srIuL_HeTer Hlu,rensener UL aImTHE HeDED Q6D STes.

,. over
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22,

23.

24.

25.

26.

6

Qar@ésiuLHeTer LULE®S QUMTH) LTShIG®meTsS GMESaLD.
Draw the given diagram and label the parts.

LTI 4 S@Eh&GNW sl LaTLsea @Qramyemens GHILIEGHS.

Mention the two unique characteristics of Mammals.

(<=1) Apibrasden sienwliy bpmib Cewed @GS WTenel ?

(<) Amifr QearalGumid uregler oiglumLwld walgsPe, B&s
e sSaiarer earaummn 2 miliLsmer euflasiu(hSsis.
Aypr prerd, AmBr L e, ApBrswn, Ay Frienu

(@) What are the structural and functional units of a kidney ?

(b) Arrange the organs of the human excretory system in the correct order, based on
the passage of urine.
ureter, +ur¢ﬂ1rg, kidney, urinary bladder

(1) ur@ngsafldy sraiu@b L 6L wrg ?
(<) wrenaruilen FHFWD eTgen LIMUTH ?

(a) What type of dentition is seen in mtammals ?

(b) What are modified as tusks, in elephants ?

FTESMTES FDTFD YOGADTEONS LDﬂ'ﬁ')gDLBGU)L&%]!D@].

(=1) Guopser Cewedd asgmawu banssl poL Qundng ?
(<) e memandfl FHUESDg ?

Sugar is converted into alcohol.

(a) In the above reaction what kind of process takes place ?

(b) Which micro - organism is involved?

Bileppg QeuellGuw er@d&siiuc L Sanaer B Cpriv 2 WL Qmés
WPlgWIrg). eres ?

A fish taken out of water cannot survive for a long time, Why ?
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28.

7

A B ararm GOSLBS sTeurd FATIq.6  QuUIaD G T fessefian LLD
QarHssuuL(HeTarg|.
Types of vascular tissues in the plant stem are given which are labelled as A and B.

(=1) AB -@en Quuwiiser

(<) A -er aufursls QUTHETSET 6TelaIrD Q@& @hsEGS sL55L!
L@$Henpen ?

(a) Name A and B

(b) How do the materials in A move upwards to the leaves ?

Gemeu@sd 2 uliGeaudw &Lpg:)é]mués samL_Hbg 196rel 0 LT ACLETC)
e weflEsa|.

{ouafleir_eold

ZN

LEpeTeIThEaT|  |STOUTESHT | |Ligld erQumer| | pieramudfsar

Y afeoiiGsar
< Fr
(1) eTEUGUENS oar” L 1Qur@er uflwrméng ?
(=) A PSS T ey B QLD Qeweser wrane. ?
Observe the following Bio-geo chemical cycle.

@ urgleflwr / L epens

Atmosphere
\Green plants\ Plants and Fossil fuels | |Micro organism
N animals C (Bacteria / fungi)
B D

(a) Mention the nutrient in the given cycle.
(b) Write the activities from ‘A’ to ‘D’

[Q@uqeﬁ/ Turn over



8
29. pmed Goeuraimenin eTeMDNE) eTehian ?

What is energy management ?

30. &eer sapmiseT Seunts @ mLiGer sflwrar bbaen T(HEIS.
(<=1) @pwr ‘srpmseiler HrE’ e H@P&SLILOGSDSG.
() Quibers eumueded sramiLELD waemenwwirer Gurmer LGrrGue.
Correct the statements, if they are wrong.
(a) India is called the ‘country of winds'.

(b)  Propane is the chief component of natural gas.

31. d@wu Qup Guaib wHmDL HEbud Cup Quers aleThismar (LPEDDUITE
QUTmEEs.

CUGTTRISET A ‘ B C
L QL
Aoy Qupid s sy QUL Grreiuib
GUGTRIGET
WERAR M ol
Q(EU_DU Lp Guers A6 |@WIHens eUm | S .Lu? !
GUGTRIGET <2ADMe

Match the suitable renewable and non-renewable sources.

Sources ‘ A B C
Renewable Coal Wind Petroleum
Non-Renewable Hydrogen [Natural gas Solar energy
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32. 30 Symb srgmyen 2 Uenu 70 &. Bfed &Mr&E0LCLTg 2 (Heurar S@realea

Qedlevey Hlenm Fseissder samsHHs.

Take.SOg. of common salt and dissolve it in 70g of water. Find the concentration of
solution in terms of weight percent.

33. QUTST aulgs Bz apad GASSHILEL @m sorsmas SWTMSEEDM.

34.

(B1) ASHDTFD CTEUUMEMWEF FTTHSS) ?

() Assmrsn gafledns sar aufiCu SigIwdéEor ? SLHSSTST ?
(&) ssmrsaean Quidemer (oI5,

(FF) senrllummer gisaflen o (Heuarey WITg ?

Radha prepared a solution which could be separated by filtration.

(@) Name the type of solution.

(b) Is the solution transparent or opaque ?

(c) Mention the nature of the solution.
(d) Mention the size of the solute particle.

G eimeu(mHLD S Leuamenrenw Bl s.

safwd | sigpblen psaam Heop | Si@nssL(h eremw
@Gormflan | 325 71 :
: = 48 3
aCament
. ) 32 - 8
FeOLIT
. - .2\
&0 [BL_[TE60T 14
Complete the table given below : |
Element Atomic mass |Molecular mass Atomicity Number
Chlorine 35.5 71 -
Ozone - 48 3
Sulphur 32 - 8
Nitrogen 14 B 2

[ﬂ@uug / Turn over
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2?????7?7

g0 sata] Qsdey QararL. & 1ns Sjfletd -ID[DQILb"”"””‘% SALapeTen
SPlosms TOSSE CETaTLTeD, @reanige 6l e
Qleod ? erem ?

If acetic acid and hydrochloric acid of same concentration ar
two is a stronger acid and why ?

e taken, which among the

pan@ Qsfbs e Qummersefar pH wéii S QasTH&sIUL(HETeTS)-

Cummer PH g1y
TN FNFF FTm) 22-24
SEETENE FT) 41
- 44-55
12.0

eI (HL Lwiestm_(p)

9 Cwreflwm

SiLLamarow uglurie OFug &G oo Cadarels@sss
eflenLwafl&saLb.

(=) arpESBSL QUMHLEET bl 2 L6y ?
(<) THOASHS CILITIHLEET STTSSGTENLD 2 LW ?

The pH values of certain familiar substances are given below :

Substance pH value
Lemon juice | 22-24
Tomato juice 4.1
Coffee 44-55
Household ammonia 12.0

Analyse the data in the table and answer the following questions.
(@) Which substances are acidic in nature ?,

(b) Which substances are basic in nature ?
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QUTHSEIS :
L eumuLin(h)
(1) UTEDEFL @ Fe,O,
(=) GUeTL - Cu,O
(@) GapwenL - CuFeS,
(/F) &TULIT enuenyl oy - Al,03. 2H,0
Match the following :
Ore Formula
(a) Bauxite < Fe,0,
(b) Cuprite - Cu,O
(c) Haematite - CuFeS,
(d) Copper pyrites - Al,O,. 2H,0O
e DFILLUPSSFO © Qaulugsted @iy Qeoarssdad (AsTawl

upmeeaturafled) eblaflusgiesrer Fe,O
vwetuhEmg.

SETBTLD : SQBllwggner @m euadlamwurear ¢ @ &@LW0
sreantl. 2 mFluBsgHsme elearéEn euamsule
sTrewTd FHlwing o erengm ?

Assertion : In thermite welding, aluminium powder and Fe,O; are used.

Reason Aluminium powder is a strong reducing agent. Does the reason
satisfy the assertion ?

Gy Qer@ssuul(arar elaTésrisaller aTsamTd OWG THHaTuls
SBsHhE QUIHSSLTSTUDDDE SeUNSIHIS Falis.
(=1) @ Howbdp erfsmen QETaTL @ Biowb.
(=) @8 pLessHe 2uifl wréflamer UTESTESL LeLHE DS
(@) @& o amay, LPFFTHISMET UTGETES LLGTLREDS!.
(") Q& @ally eas@LCUTg ualssiy GUTED Ligshigmar
2 (HeUTEHGE DS
Read each description given below and say whether it fits for ethanol or ethanoic acid.
(a) Itis a clear liquid with a burning taste.
(b) Itisused to preserve biological specimens in laboratories.

(c) Itis used to preserve food and fruit juices.
(d) On cooling, it is frozen to form ice flakes which look like a glacier.

[ HwLys / Turn over
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42.

43.

12
. 3 ?
S{’]@@é@‘ﬁ@@%ﬁ (Spanner) ena&Li9y. Heroms @muug Gy et
Why does a spanner have a long handle ?

: e L b HmCamar
20 8. <praptd 104 £.6. Flappuyd Qarer B 612 Grsarm.efi)g&&Ul.J@'L;] @rymg‘;mu
garep Csauens LmiaelGApri erafe, B 612 —& iy PHSES
GreTent ?

: ss of
If an angel visits an asteroid called B 612 which has a radius of 20 m and ma

1104 kg, what will be the acceleration due to gravity in B 6127

LLgHd AC peans@EssE Qe Gu o drer ASmELIWaT LB TS EN L & liemL&
STETE.

Find the effective resistance across the end AC.

S@Llys @ghsgda Qar@ssuul@daer Gerpseiid o fuaeubhans
CoipAsdssIL Aetapd AL e@amaw Hiris.
(Z15SBTED, STWITLD, STTLIET, STRWD, sTiu-mL - éman®, Si@iilafluib)

Cyir eneumis |srfw bl CoL&&ET
T Wlareumiis |Qevdem@nél Llemsaen
Complete the table choosing the right terms within the brackets.
(Zinc, Copper, Carbon, Lead, Lead Dioxide, Aluminium)

+ve electrode  |Lead acid accumulator :
_ve electrode  |Lechlanche -
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QUTBSSIs

(1) Bamgm’ b (Q) - PxRxt
() Gewiiuc L Geuenar (W) - Ixt
(@) Cauti sypped (1) - RxI
() Bemanpss Caugiur@ (V) -  VxQ
Match the following :

(a) Charge Q) _ R2xRxt
(b) Work done (W) - Ixt

() Heat energy (H) -  RxI

(d) Potential difference (V) - VxQ

Camgl L @ migemer HlrliLs.
(1) Gl : HeoassThsid ; eurens wenpulemer GOTLLT :
(<) Gelws Ggreneva] : WL ; Slwer = .
Fill in the blanks.
(a) Motor : a permanent magnet ; then
Commercial motor :
(b) Focal length of a lens : metre ;

\

Power of a lens :

&9 @ eendl e péHwus Gewibd Fy - Qurer e arerGurg GbugS e
Blane&sTes s T QIE®FS.

If the object is placed at a principal focus Fy of a convex lens, draw the ray-diagram for

the image formation.

geflurang sTHHISHOS) pafleflavae cram 147 QareanL &G emTam@arriiudie

HienADS. STHHIE gafuden HlanaGausid 3 % 108 18/69 eraied amQanTanalammniuie)

geflen SepsGeusld eTeeET ?

Light enters from air to kerosene having rfefl_'a
light in kerosene, if the speed of light in air 15

ctive index of 1.47. What is the speed of
3x108 m/s?

[ Sriys / Turn over
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19fley - 111 / SECTION - III

(LHLQueser : 20) / (Marks : 20)

sib BIENE CNTTESEHSS

SOy : () gaGars ueSlEEHsIb @@ ol o =20

aflen_weflésHea .
(i) GCseeuwrer @L kigafle) UL LD IENTS.
Note : @i  Answer any four questions by choosing one question from each part.

(i) Draw diagrams wherever necessary.

L& -1/ PART - 1
48. (=) srsGrpmi ereucuamsuied Lyafpg ?
(<) sreGrpruierme ghu@L UTHULEET wrenel ?
(@) areGpruiemen gpLBSSID Comi sTranilufer QUL wirg ?
(/) sreGprilenar sLOLUUGSSID gGCHEID e (PEODSEET GT(LPGIS.
(a) How is Tuberculosis transmitted ?
(b) How does Tuberculosis affect our body ?

(c) What is the causative agent of Tuberculosis ?

@ | How can it be prévented ? (any three)

49. wafg tpénerud e voGay urshismas GHLAL@, wiger venflsenaru)b
GO0

List out the various parts of the human brain and write a note on their functicns
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L@ - I1/ PART - 1

P, . :
HEGW Freuriiseted BepL_QuimiLb uradlemiiQu(més wepwiler FHUBLL Gream()

ﬁ&gpmasmm CT(Lp&I5.

(1) Psev ,@5@@4 LOHMILD DG CUMSHE®6T 6Slou &

(<) <izen Beenld Seninsenar T(LPEIS.

Write tl.le two events involved in the sexual reproduction of a flowering plant.
(2)  Discuss the first event and explain its types.

(b) Mention the advantages and disadvantages of that event.

HOS, Lews, erbi@ Cprélenild Lians aim_aib. @)F@pd 2 L dposdhE Thns)
CTeLIENS FOMIEG CETETHDTSaTT ? STTETHRISMET 6T(LHSIS.

We are surrounded by smoke. Is this situation good for our health ? Give reason.

L) - 11/ PART - III
Qestaumd samissaiian Gord eramafilsamamls sanssl(Hs.
(1) 7 8. enpLreen (<=y) 4.6 . Camguild
(@) 40 &. smeslwibd () 14 &. GHwibd (2) 3.2 &l. Feourr
Find how many moles of atoms are there in :
(@) 7 g of Nitrogen (b) 4.6 g of Sodium
(c) 40 g of Calcium (d) 14 g of Lithium (e) 3.2 g of Sulphur

sfw Caibiiser A wpmibd B yHweer C,HO eremm LPESHFAM CUTILITL GHL &
QararL THOIL SEHLOLILIEET. LMD i @wempl;lu A Gamgwib 2 Georsdg)L e
@@DL_JEe GUTLEnel QeuefCupHmF . ccg:pevrrreb"B @@Gﬁ]m@ l—llﬂ@-{ﬂ@mm.
A panigl SIS 1gE oflesgILem i HyS0, 2-La _@ﬂmm"{’ﬂﬁ’@“@?&'_@@éﬂ
werrpeLw C erem Gersmgs &mHEADI GFGUﬂGD., LIHMIL DALY SET
A, B opmd Gairow C -8 saTLMs. s@Hs Caudl soaUThHEmaT 6T(PSIs.

s ‘A’ and ‘B’ are the isomers with the molecular formgla C2H6,O,'
duces hydrogen gas with sodium metal, whereas compound ‘B
does not. Compound ‘A’ reacts with acetic acid in the presence of conf.er,ltrlat,ed H,SO,
to form compound ‘C’ with fruit flavout. What are the isomers “A’, B ?‘Fd the

compound ‘C’ ? Write suitable chemical equations.

Organic compound
Compound ‘A’ pro

[ HwLiys / Tumn over
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L@ - IV / PART - IV

2 b5 siflelerann elfamwds g, Quiii9&EseaiLD.

State law of conservation of momentum and prove it.

(=1) uL, Quirmer ‘O wHYIL Qeardammd 2 (HeUTSSLILILL e@{gym- L(ﬂL.DLlLD
T -g eN&dpg. uLsHéd Qeers WHYID DG GTeUITN @mugmg
2 (hUTEGHDE eTarTumgs S _(Hb &HTeUMILLLD UMTS. Qeveor s 6ot
WsAu Gellwb F -0 ghss. Qoadler QuuaTs smmns.

|

O I

(<) antiyer AgrevaCprafuler stgamanser @)ra() Fa ).

(@) The diagram shows an object ‘O’, and its image ‘I’ formed by a lens. In the
diagram, draw the lens and the rays to show how the image is formed. Mark
focus F, of the lens. Name the lens. '

I 1
|
O I

(b) Mention any two achievements of Hubble Telescope.

-000-



